1. GDA and QDA

QDA: Z, + Z2

In GDA, we have:

$$((\phi, u_0, u_1, \Sigma) = (eg \prod_{i=1}^{m} P(x^{(i)}, y^{(i)}, \phi, u_0, u_1, \Sigma)$$

$$= (eg \prod_{i=1}^{m} P(y^{(i)}, \phi) \cdot P(x^{(i)} | y^{(i)}, u_0, u_1, \Sigma)$$

$$= \sum_{i=1}^{m} (eg P(x^{(i)} | y^{(i)}, u_0, u_1, \Sigma) + \sum_{i=1}^{m} (eg P(y^{(i)}, \phi))$$

$$= \sum_{i=1}^{m} \left(\frac{\log (2\pi)^{n} |\Sigma|^{n}}{(2\pi)^{n} |\Sigma|^{n}} + \frac{(-\frac{1}{2}(x^{(i)} - uy_{(i)})^{T} \cdot \Sigma^{-1} \cdot (x^{(i)} - uy_{(i)})}{+ \sum_{i=1}^{m} y^{(i)} \cdot \log \phi + (1-y^{(i)}) \cdot \log (1-\phi)} \right)$$

Finally, we got: $\phi = \frac{1}{m} \sum_{i=1}^{m} \{y^{(i)} = i\}$

$$u_{b} = \frac{\sum_{i=1}^{m} \{y^{(i)} = b\} \cdot x^{(i)}}{\sum_{i=1}^{m} \{y^{(i)} = b\}}$$

$$\Sigma = \frac{1}{m} \sum_{i=1}^{m} (\chi^{(i)} - u_{y^{(i)}}) (\chi^{(i)} - u_{y^{(i)}})^T$$

In QDA,

((\$\phi, u_0, u_1, \subsete_0, \subsete_1) = \subsete_1 \left \begin{array}{c} \left \gamma^{(\chi)} \gamma^{(\chi)}

$$= \sum_{i=1}^{n} 1[y^{ii}] = 0 \left[by \frac{1}{(2\pi i)^{\frac{n}{2}} |Z|^{\frac{n}{2}}} + C \frac{1}{2} (x^{(i)} - u_0)^{\frac{n}{2}} \cdot Z_0^{\frac{n}{2}} \cdot (x^{(i)} - u_0) \right]$$

$$+ \sum_{i=1}^{m} 1[y^{ii}] = 1 \right] \left[by \frac{1}{(2\pi i)^{\frac{n}{2}} |Z_i|^{\frac{n}{2}}} + (-\frac{1}{2}(x^{(i)} - u_1)^{\frac{n}{2}} \cdot Z_1^{\frac{n}{2}} |x^{(i)} - u_1) \right]$$

$$+ \sum_{i=1}^{m} by p(y^{(i)}, \phi)$$

The results are almost the same;

$$\phi = \frac{1}{m} \sum_{i=1}^{m} \{y^{(i)} = b\} \cdot x^{(i)}$$

$$Mb = \frac{\sum_{i=1}^{m} \{y^{(i)} = b\} \cdot x^{(i)}}{\sum_{i=1}^{m} \{y^{(i)} = b\}}$$

$$\sum_{i=1}^{m} \{y^{(i)} = b\} \cdot x^{(i)} - u_b \cdot x^{(i$$

See demo (Jupyter noteboh)

X 1y=b NM (PI 1y=b --- Pn 1y=b)

$$P(x | y=b) = \phi_{1|b}^{X_{1}} \cdot \phi_{2|b}^{X_{2}} \cdots \phi_{n|b}^{X_{n}}$$

$$P(x,y)=L(\phi_{y}, \phi_{x|y=0}, \phi_{x|y=1}) = \prod_{i=1}^{m} P(x^{(i)}, y^{(i)})$$

$$= \prod_{i=1}^{m} P(y^{(i)}) \cdot P(x^{(i)}|y^{(i)})$$

$$e_{y}L = \sum_{i=1}^{m} e_{y} P(y^{(i)}) + \sum_{i=1}^{m} e_{y} P(x^{(i)}|y^{(i)})$$

$$= \sum_{i=1}^{m} e_{y} P(x^{(i)}|y=1)^{y^{(i)}} P(x^{(i)}|y=1)^{1-y^{(i)}}$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=1) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=1) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=1) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=1) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum_{i=1}^{m} (1-y^{(i)}) e_{y} P(x^{(i)}|y=0)$$

$$= \sum_{i=1}^{m} y^{(i)} e_{y} P(x^{(i)}|y=0) + \sum$$

 $\int_{i=1}^{\infty} y(i) \chi_0^{(i)} = \lambda$

$$|\phi_{\hat{j}}|_{1} = |\phi_{\hat{j}}|_{1}$$

$$|\phi_{\hat{j}}|_{1} = |\phi_{\hat{j}}|_{1}$$

$$|\phi_{\hat{j}}|_{1} = |\phi_{\hat{j}}|_{1}$$

$$|\phi_{\hat{j}}|_{1} = |\phi_{\hat{j}}|_{1} = |\phi_{\hat{j}}|_{1}$$

$$|\phi_{\hat{j}}|_{1} = |\phi_{\hat{j}}|_{1} = |\phi_{$$